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1.

2.

Explain how to write a system of equations as a matrix equation.

at right by using a matrix equation. Zty=—6

Describe how to represent the system {x -y=5
2x—z=2

. Discuss how solving the matrix equation AX = B is similar to solving

the linear equation ax = b, where a, b, and x are real numbers and a = 0.

. Describe the steps involved in using a matrix equation to solve a system of

2x-5y=0

linear equations such as {
x+y=-2

-1 1 1 3|[x 2
. How can you verify that | =3 [isasolutionof [2 -1 —2[|y|=| -3¢
2 3 2 2]|z -13

. If coefficient matrix A in the matrix equation AX = B does not have an

inverse, what do you know about the related system of equations?
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(.7 ) INVESTMENTS A total of $10,000 was invested in two certificates of deposit
that earned 6% per year and 8% per year. If the investments earned $750
in interest each year, find the amount invested at each rate. (EXAMPLE 1)

Write each system of equations as a matrix equation. Then solve the
system, if possible, by using a matrix equation. If not possible, classify
the system. (EXAMPLES 2 AND 3)

x+y=8 {x+3y:7 {3x72y:11
[3-'{2“;':1 ) \+3y=2 A% 6x - 4y=5
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Write the matrix equation that represents each system.

3x-5y=1 —3x+y=-3 {2a+4b:73
11'{2x+y:72 12. {6x— 127=6 B la-b=9

4x+y—-2z=10 y+5z=-14 R2x+y-z=-7
14.13x+5z=14 15.1-2x+3y—z=2 16. 1 11lx+2y=-2

8x+3y—2z=23 6x—3z=21 —x+9=-9

Write the system of equations represented by each matrix equation.
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